EmmK  S=1:200

/

BEIZER L=49. 5m

-
-
<
~
// N \\
- \
- \ >
\ ¢ ~
NN\
\ e
N NN
\\/
N >
\ ~
\ ~

ERBEKE (¢ 300mm)/L:9. bm

B B DECAIE (W=300mm)  L=28. 7m
£ 7Kk #t (500 x 500mm) N=3 5 iy

1 S &EK#

O

. N\ KBM=5. 000

(B

2 S &Kkt

TN B

5=1:50

2 W=8. Om

—n
]
o

AR S=1:Free

(XERHEENRGHECR G LS5EEEELHET S L)

XET
#iE # R X
o BAEBKETALY
~ =JE TOP13 2. 35t/m3 (3% 3 #5 E  &)
77 74h31-} PK3 1.26Yykh/m2
S t%%%ggﬁiﬁﬁﬁ%ﬂa RM-30

I E & | KENSHEBRKRISE

ST TR E R B RR

B A | FEN - SEREE - SEEN 1/3

=i E%E = =
X BE LE RE| B
HF6EE |R




e T e By
(PO. 0-25. 0~P0. 0) (PO. 0~P34. 5)

B B AEAIE W=300mm) L=14. 10m

\ WEE IN2%, AEEFR) IN-7K
B300-H300 B300-H300
ME [=0. 70m F&J L=1. 50m
A& (FR) RIEE (FEY)
3 i 4 AR 80% (W=300mm) L =14. 60m NoTHy NeTH
I7EZE IN=
REE N4 B300-H500 B300-H500
B300-H300 F& | =1. 50m hE 1=0. 70m
BEE [=1. 00m B300-H300 BB (FR) RE= (FR)
' 2 (=1, 10m N=1# N=1#%
B300-H400
@ =0 0om B300-H400 B300-H700 SV~ ba A ¢ 300mn
AEZE N=2% F&Y L=4. 50m ZAE | =4. 10m L=9. 50m
B300-H400 RE= (FR) fmal=
=& =11, 60m N=34% N=2#4
7.000 ﬁ“fﬁ% N=1 2*5( 8.000
6. 500 7.500 (7]
6. 000 7.000 <éﬂ§§é>
T] N
5.500 | 6.500 / 6 912
5 833 5891 _ 6802
1 S 3; TR
S e I 5.625 5.678 -
5.000 | — — -& \.5. 301 6.000 | 5. 600 | — 4
= 3 . / —T1 | &L 6.162
1 £8 & £ — — 1 = 2
4,500 S YL CoTy 5.500 | [‘  ] @%a E% i &= N T
s g $Z I © ok
4.000 5. 000 \ s T
3 —_ g — _& 5. 301
3.500 4.500 <§5'7£§§@
1/200 1/200
DL=3. 000 DL=4. 000
v i 2 (20,98 /2 ERIiBE R ES e i g\/e b 3
£ ! ~ B L = AR E AR % B </\ Eha %
A A
. e [ee) © [oe] r~ ~ o Bil 3 —-2— — © o~ ™ [N
EREES s & 8 g =8 iededn 3 5 g 2 2 3
< ) ) o TR =] B K= o ) © © © ©
E — Lo < — — - ™ E — or) ) o o~ o
ERES g 2 & 3 33 ERE= o = = = | 8
o [Te) [T} [Te) [Te) (o) o [Te) © © ~
BIl = S =2 =2 S =2 N S 5 Il _ b= = 3 = ~
B EREES = D > == & <8 | EREBES S 3 = 3 | S
<+ <+ <+ Lo Lo Lo Lo [Ke) Lo o © © ~
-~ —_— [Fp) (=] Lo < o N Lo ™D -~ —_— [ar] [aed (=] N — o
J ZE Eﬁ. BE = b 54 3 by 3 B8 3 J ZE Ft% BE > & L = 3 @
< < 7o) Te) [Te) Te) o BT ITe) ITe) © © ~ ~
$ ftE -;-E S S § 8 S S 8 8 ﬁ f‘tE -;-E S § § S S S
o o o o o o [Ye] o [Te) [Te) [Fp)
Ilﬁj'l =) Ire) [Te) ™ ~ © [ =) Hl o 52 = <r [1o) <
Iﬁl I ﬁl $ 2[ §| SI < 'I— 8 Iﬂ] nn E E § § § §

I8 | KENSHEBHIRIE

B | X 2/3

%4 2R BF RE B

TME6EE R
ST IERRDEREMRR




BER S=1:25

BHUI-IEME EHRAYEAE BERAYRAE ERAYERAE EHRAERE
@300 L=9.50m Z % B300-H700-L2000 L=4. 10m % B300-H500-L700 L=0. 70m FRIZXE B300-H400-L1500 L=4. 50m FRIFZAE B300-H300-L1500 L=1.50m
FRIAZAE B300-HH500-L1500 L=1.50m M %Y B300-H300-L700 L=0. 70m
fEE B300-H300-L2000 L=1.10m
1,300
=) 500 625 500 400 500 400 500 400
384 — B sose oo 30 100 B 50LLE  |100 300 100 B 50LE 100 300 100 B BOLLE 100 300 100
42 300 42 (RM-30) = %iéi'zu—r ‘ ‘ ‘ i(;ﬁ;;au—r ‘ ‘ ‘ _ %ﬁ;;ﬂH ‘ ‘ ‘ _ %Eés'zu-& ‘ ‘ ‘ .
o ~ < <
‘ ‘ _ o )W‘ — A (RM-30) S (RM-30) S (RM-30) 8
_ ol / R \\ = o § A
I \ = o
s g 8 N o Re40) = N 2 (RC-40) g (RC-40) 8 BT (RC-40)
© N _ 4 o 8 ST 20: (18-8-26(20)) |
Bl R \L o J/ S S (RC-40) “ ® ol - mﬁ?%%u;) L =a ‘ Hagy)-t ‘
g« re T T S - L e 18 \ T \ 8 ERBERAD) |
ERIR == L S ol (18-8-25(20)) = —
NS F 1 > 8 |[  mmuwt | 8 EBRER) |
R (RC-40) o ol
= ‘ ‘ — EET S ERRER4) | 600
14 o 14 400 400 fE | [ smon | o = =
ofF— 600 700 100
500 8 | =mwmRe40) | 0 100
HwEx (1.0m) (1.0%%)
o HEX (1.0m) (1.0x) I i ESCIDPS HE | #= B4
HEx (1.0m) (1.0%t) 630 100 wEE a.0m (. 05t) I B STk BE | M8 |8 LR | 72070 1.00 | 3.30] m
I & &tk BE | #2 B T & STk HE | w2 [EE SHEERR U T FAI7Ihb 1.00 | 4.50| m S MR AR R TAI7Ib 0.52 | 1.72| m2
LMD | 7A77hh 2.00 |19.00| m SERDW | 7A070E 1.00 | 2.20] m BEERE | TR 0.52| 2.34| m BEMREL | B 0.12 | 0.40| m3
SEMRE | 72770 1.80 | 12.35| m2 BEX (1.0m (1.02%) FEWHR | 7070 0.52 | 1.14] m WEMREL |mE 0.12 | 0.54| m3 FRiE Y 0.37 | 1.22| m3
RIEY 1.32 | 12.54| m3 I B’ LTS BE | HE ¥ BEMIEL &5 0.12 ] 0.26] m3 FRIEY 0.46 | 2.07| m3 B/RL RC-40 0.14 ] 0.46| m3
BRL RC-40 0.92 | 8.74] m3 SERRLINT | TAI7ME 100 4.10| m KIEY 0.55 | 1.21] m3 BRL RC-40 0.17] 0.77] m3 -+ C=170ke/m3% 47 0.05] 0.17] m3
®E BAFNETAITopl13] 1.30 | 12.35| m2 SRR | TAITHE 0.75| 3.08| m2 BEL RC-40 0.20 | 0.44] m3 avhy-t C=170kg/m3E 47 0.06 | 0.27| m3 =B BABMAETAIVTop13] 0.40 | 1.32| m2
PR RM-30, t=10cm 1.30 [ 12.35| m2 BEWIEL |85 0.12 | 0.49| m3 EDY N C=170kg/m3S 47 0.07 | 0.15| m3 x=E BATRETAITop13] 0.40 | 1.80| m2 B RM-30, t=10cm 0.40 | 1.32| m2
KiEY 0.84 | 3.44| m3 %=E BAEBRETATop13| 0.40 | 0.88] m2 Bz RM-30, t=10cm 0.40 | 1.80| m2
BRL RC-40 0.38 | 1.56| m3 3 RM-30, t=10cm 0.40 | 0.88| m2 FRIZHE 10m Yy ME  10m Y
yEE (1.0m) (1. 0z%) Y-t C=170kg/m3@ 17 0.12| 0.49| m3 FRUZH  10n% Y EE G 6.67 |18 EEC L 14.29 |18
I i -tk 2 | HE H xE BEBHETAIVTop13| 0.63 | 2.58| m2 OE (0m Y FRUZ®E  10n Y B B E 6.67 |1 ERRE 0.70 |m3 ERRA 0.70 |m3
BHL)- a1 | B, ¢300m 1.00] 9.50| m bk RM-30, t=10cm 0.63] 2.58| m2 B AR 14.29 1@ B AEREE 6.67 | @ HEERE 0.70 |m3 HRE))-H 0.60 |m3 Higavy)-+ 0.60 m3
7 U AMELBEAR | 500 x 100 x 2000 1.00] 9.20] m HRRE 0.70 m3 RERE 0.70 |m3 ERE)- 0.60 Im3 EERIY-} 0.28 |m3 EERIV) - 0.35|m3
TINEE 47, 1:0.3 0.005| 0.05| m3 ZE 1omL Y HREIh)-} 0.60|m3 EHE))-} 0.60 |m3 E&RIY-} 0.38 [m3 E RIBEH | & = AIBEH | &
B HR DA 5.00 | f& EER Y-+ 0.40 |m3 EEIvY-+ 0.48 [m3 = RREH &
ERRa 0.63 |m3 S RREH | & S RREH K %3 (L2000) 10m34 Y
EREh)-| 0.53|m3 B RaERAE 5.00 | @
EEERavYY-+ 0.71 |m3 RERR 0.70 |m3
E B | K EEEH)-} 0.60 |m3
EERIY)- 0.41|m3
= BB H |
BB AEAE EHRAYEAE 1 SEKH 2 B &K 3 B &K BEmEyYIbhlL
Z# B300-H400-L2000 L=13. 60m k& B300-H300-L1000 L=1.00m 500 x500x520 L=1.80m 500 x500x 810 L=1.80m 500 x500x 850 L=1.80m PO. Offaz
500 400 500 400
50t [100 300 100 0Lt [100 300 100 800 500 800 500 500 800 450 200
BRI} 2R 17)-} ‘ ‘ ‘
©170) ‘ ‘ ‘ S (©170) < gy gy 190 500 150 gy gy 100 500 150 warvgyy 190 500 150 ﬁ ﬁ
500 x 50053 500 x 50075 500 x 50075
] (RM-30) S | (RM-30) 8 T-14, # VEZE 5.543 = T-14, & MEE 6.772 = = T-14, # VMEZE 7. 652
A - N - | N
- 2 | | (RM-30) -8 | | (RM-30) s S (RM-30) | | §E
o 3 R - AR — o
gl “ (RC-40) 8 T (RC-40) S B
~ S ol 18-8-25(20)) ol O
ol L njs&:sgg;o; L i ERE)-b ‘ © o = 2l o
8 R+ 8 ERBERC4) | . 5.023 (RC-40) 2 3| «© =] A=0. 08
3 b EPERE (RC-40) Q (RC-40) g g (RC-40) —_ 600 \558 2)15
600 = — — '
510 700 100 = B RC-40) ‘ | . 5.962 6. 802
610 100 3 gl A=0. 24
900 ‘ 400 ‘ S - = t=0. 12
HEE (1.0m (1. 05t) = A R0 ‘ o ‘ LT (RO-40) 3 V=0. 03
HEx (1.0m) (1.0%%) I i Stk ¥E | HE BN — I
T @& ST BE | %E | SR | T 1.00 ] 1.00] m 900 ‘ 400 ‘ ‘ 400 ‘ 900
S PRI 7A77hh 1.00 | 13.60| m GEIIR FAI7hE 0.40 | 0.40| m2 uEs (1.0m) (1.0%%)
SRR | TR0 0.40 | 5.44| m2 BEYIREL |®E5 0.16 | 0.16] m3 I a Fyrg—s uE | nE BE
BEYIEL B 0.16 | 2.18| m3 R Y 0.32| 0.32| m3 SERDE | 7R770h - | 310 m
FR1E Y 0.38] 5.17| m3 BRL RG-40 0.14] 0.14) m3 SHLE R AR R TAI7Ib 0. 86 1.55| m2 yEx (1.0m) (1.0%%)
BREL RC-40 0.18 | 2.45| m3 h)-+ C=170kg/m3& 47 0.05| 0.05| m3 BEVREL |E5G 012] 0.22| m3 EI *i YTy %‘QE ﬁé i BEXR (1.0m) (1. 0xX)
Y-t C=170kg/m3B 47 0.05| 0.68] m3 =B FEFMETATop13] 0.40 | 0.40] m2 RIEY 08t 151l m aEmaE o ‘ o0 180l n I E STk HE | fE |8
=& BEFRETATopI3] 0.40 | 5.44| m2 B AR RM-30, t=10cm 0.40 | 0.40] m2 BE L RG-10 0331 05 ms s Tt AR wEOE |17t ~ T340 m
BR A RM-30, t=10cm 0.40 | 5.44| m2 WhY-f 18-8-25 (20) & {7 Z 0.30| m3 HEMREL | @5 0121 0.2 m %ﬁ%’:ﬂﬁﬁ&ﬁ% TZZJH 0.80 | 1.44| m2
B4 (L1000) 10m& Y =B BABRETAIVTop13] 0.50 | 0.90| m2 FEY 119 212l ms BEYIEL |85 0.11] 0.20| m3
= 1LY EEEG T 10.00 |18 B RM-30, t=11cm 0.50 | 0.90| m2 e L RC-10 047 08 m FRAR Y 1.28 | 2.30| m3
EEGE 5.00 1@ EHRE 0.70 |m3 B DI 18-8-25 (20) B IF ~ 0.4 m BRL RC-40 __ 0.49| 0.88) m3 T E4 KiEBOGEMHMERRBEISE
e i35 0.61 |m3 #2501 0. 60 |m3 =W BAEBMETATop13| 0.50 | 0.90] m2 200 16-8-25(20) &) -_| 0.43) nd -
ERE))- 0.51|m3 TR~ 0.34 [m3 G RI30. t=100m 050 090 m £ BEBHETATop13] 0.50 | 0.90] m2 'R | BER 3/3
B 0.34 |n3 = BB | ’ ok RH-30, t=10cm 0.50 | 0.90] m2 % % % g | BE g E | Bt
S RIBEH |4 fHiE Bx 8
SHM6EE R
EHTHTESNEREHRSR




